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P53 Breadth of a rectangle is 27 cm less than its length. If the perimeter is 3 m 6 c¢cm then its
length and breadth are respectively

(A) 100cm,73cm (B) 80cm, 53 cm
| " 4 B0/em;163cm -, (D) 103.5cm, 76.5 cm

Qecucuswnaniler sisawrag igean BarsmsedL 27 Qg.8 Geammeurs 2 drerg). spmerey 3 15 6 Qa8
<245 QmUllern o1& Qacucussder Barb, s wparnGu

;

! (A) 100Qs.5. 73 Qs.15 ; (B) 80@s.8, 53 Qs.18
(C) 90@&.8, 63 Qg..5 * (D) 103.5@Qs.8, 76.5Qs.18
: 2. A is younger than B. Seven times the difference between their ages is equal to sum of their
ages. Ratio of B’s age after 12 years and A’s present age is 5 : 3 then what is A’s present
age?
! (A) 30 years d 36 years
(C) 42yers (D) 48 years

A g B fCurmer A @eenweur. jeuisatien euwgisatlen eﬂ,&,@u_lrrséﬁsh 7 WLmSTEIE
Sauisailar awgsallar amPs@éEEE sob. 12 yRsEsEH Ype B War awgnd A Wer
sDCuresw auwgw 5 : 3 ereay g5 @ mLGer A ulear sHCUTeSIL cuwIg) eremen?

(A) 30 eugpLmser (B) 36 eupLrasar
- (O 42 umLruser (D) 48 eupL_riuger
3. Distance between the points (a, b) and (-a, - b) is
A 2a ' B) 0

(C) 2a+2b | qﬂr 2./a® + b?

 yereflaer (a, b) wpmd (—a, —b) HwapddE el LUl Lgd

A)  2a (B) 0

C© 2a+2b (D) a’+b®
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4. Rational form equivalent to the rotating decimal fraction 0.090909

9 90909
NI = B) —
100 1000000
11 1
C — e
© 100 11
0.090909 GTEHID iLPeD SELD eTetTemtl (@, Fwimen ellflFapm erewr erg)?
9 ; 90909 |
(A —— R
100 1000000
11 %]
C e D —
© 100 &) 11
5. Two angles are in the ratio 4 : 9 and their supplementary angles are in the ratio 8 : 3 then
the two angles are respectively
wf 60, 135 (B) 30,80
(C) 40,90 (D) 80, 30

@rewr(y Caremmuser 4 : 9 arenm NflpsSHd seupdlen Wens Hlyliys Caremmaer 8 : 3 erenp
 8lssHib 2 ararar craflé sicuedip Cararmigar wpeanpGuw

(A)
(©)

60, 135
40, 90

B)
(€0)

6. If x:y = 2:3 then find (6x —y):(3x+2y)

A)
©)

2023
4:3

(B)

30, 80
80, 30

3:2

W 3:4

x:y = 2:3 arafled (6x —):(3x + 2y) aranp AHz1b 8D EE FLOH?

(A)
(©)
LCGS/19

223

4:3

B)
D)

3:2
3:4
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A sum invested under compound interest doubles itself in 10 years. In how many years will
it become 8 times of the initial amount?

(A) 80 years : (B) 40 years
yf‘ 30 years (D) 20 years

gl (B el iy wpepuier apsed®’ QeuwiulL @m AFTmswreang, 10 garhsaiiar @riglurdlng
aafle Qs &8 sgmels Cure 8 LLMETS T(HSHIS AESTETEHLD CUHL LD TeuaIaTa]?

(A) 80 eu@pLmser ' b (B) 40 eupLriusar
©) 30 eumLrmser (D) 20 eugmL_ruser

A sum of ¥ 2,500 deposited in a bank gives an interest of ¥ 100 in 6 months. What will be

the interest on ¥ 3,200 for 9 months at the same rate of interest?

A) T 200 : yf Z 192

© T 180 ' D) T 210

em wndle 6 wrsksEREE WseSH Qewwiu’ L oo T 2,500 &g ey T 100 daLsdpg
arafled 2Cs ul g issd 9 LTEMmEEEEES s X 3,200 &@ HavL_&@EDb euly. ereucuaTey?

A T 200 B T 192

(C) T 180 (D) T 210

If CAMEL is coded as XZNVO then TIGER is coded as
(A) SQIVP (B) PSQIV
(©)  GIRVT \af GRTVI

CAMEL arenugy XZNVO erenp @hluiiLméd @hlésiu®dpg eafleo TIGER eeaumg 2Cs @HlulE
wepulle crananeuns @&mlés Gouant(Hid?

(A) SQIVP (B) PSQIV

(C) GIRVT (D) GRTVI
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10.  Common ratio of the geometric progression a™ ™", a™,a™" is

Ay ' ®) o™

m-—n m m+n

a™™", o™, a™" eranp QuBEEGS QaTfer Qung 60 615?

11. A Railway clock strikes once at 1 O’ clock, twice at 2 O’ clock and so on. How many strokes
will it strike a day?

(A) 300 \gi(‘we

(C) 250 (D) 78

@@ Qe flevaw sysmb 1 walléEe emsrb, 2 waflse Qream® s, erammeurn warfl el&ELmm)
SIDDESILIL g HHSTED, G Hrefld Di&siq s el GalssHen aramanlsms

(A) 300 (B) 156
(C) 250 L (D) 178

12. Next term of the sequence 0.02, 0.006, 0.0018,... is
(A)" 0.0054 (B) 0.0036
W 0.00054 (D) 0.00036

0.02, 0.006, 0.0018... eremrp Qgm_ireuflengufen 2 (HS 2 ML erg)?

(A) 0.0054 (B) 0.0036
(C) 0.00054 (D) 0.00036

LCGS/19 6 : »



13.

14.

15.

State the number of significant figures in the following

(i) 600900 (i) 5212.0
(i) = 6.320 @(v) 0.0631
w" 4,5,4,3 B) 5,4,3,4
(C) .-3,4,5,4 D) 5,4,4,3

Yletreu(meuaTeu M mIGT 2_6TeT (PSS 6T6 gl (HESHEMET 6T(LHS

@) 600900 Gi) 5212.0
(1))  6.320 (iv) 0.0631
A 4,5,4,3 B) 5,4,3,4
© 3454 ' D) 54,43

Three tangent galvanometer have turns ratio of 2 : 3 : 5 when connected in series in a
circuit, they show deflection of 30°, 45°, 60° respectively. Find the ratio of their radii

@A) 123 (B) 1:4/3:6

W 6:3/3:5 D) 1:4:9

eLpEIT) Gl_sﬁgaim'_ sreeuet B isaflar spnssafler elldlgn 2 : 3 : 5 ey AgTLir @enanriida
Aaverasiul_( WenGeanm L ib Gegsstiu@n Curg emes s Hib eflwsaser wpanCGu 30°, 45°
60°. Siaupilen yrisalan oNfssms sras

(A) 1:2:3 (B) 1:4/3:6
(C) 6:3J3:5 M) 1:4:9

Which rule is used for the order of filling of orbitals?
(A) Hunds rule @ (n+1) rule
(C) (n—1) rule ' D) (2n +1) rule

SpsramueudmieT ereueild oML rasemer FlFliLb seennéE LUweuHdsuubhEng?

A afar e94 B) (n+l) 98

©) (n-1) 98 D) (2n +1) A4

7 : LCGS/19
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16.  The isomerism exist in 2-methyl —2-propanol and 2-butanol
(A) Position isomerism : \V Chain isomerism

(C) Functional isomerism (D) Metamerism
2-Qugda-2-yCrmiuenmed wHmib 2-9y L amrelleé 2 erer rHHlwid

(A) @l_ rHHlwb B) esndld Qgri wrHBlwib
(©) evens QznEd wrHHWD (D) @eewrorHblwib

17.  Which of the followings are identified as isobars?

@ A @ O

(i) 5, Ca® (v 6
& () and (i) ®) (i) and (iv)

(C)  (111) and (iv) (D) (@) and (11)

SpararueuDmIET eTeney gGFTUMTHET GTETLIENS DL WINETLD SHTewrs?

@ gAY (D) 5 CF°

) 5 Ca® j Gv) ,CI*7

A) @) oo (i) B) (1) wpmbd (iv)
(€) (i) wpyd (iv) D) () womwd (i1)

18.  Who among the following persons discovered an alternate pathway for the utilization of
glucose by the living cells

(A) Embden " Dickens

(C) T.D. Lysenko (D) Bateson

Gemeumpd  murseley ereu  @meur, 2uimerer Qawser GERsECamens . wrHH  uPuGgND
vweruBsgdlermen crarLamss Sar(H 11y SSTT?

(A)  eribLen B) yssaev

(C) T.D. ewaQsarCar (D) Gudiser
LCGS/19 8 . »
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20.

21.

19.

Which one is the largest cells in white blood corpuscles.

(A)  Lymphocytes

W Monoscytes

(B)
D)

Basophils

Neutrophils

&Q&G&ﬂu&lﬁf)gﬁ]é} el uilu Qrés CeudTeneTgn&Ha6T eTeneu?

(A) AbCunmsl 6T

(C) CurCammansl_Haer

HIV size. is about
(A) 10-140 um

(C)  140-100 um

61&.g9.65 ullenr Li(HLOGT SHLOMIT
(A) 10-140 um

(9)) 140-100 um

Project Tiger in India started as

M 1973

(C) 1980

Helumrgiariiy UL b gleudssiul L e[

A) 1973

W(C)y 1980

B) GCuGsr.Geser

D) Bl Crradésd

(B)

10-100 pgm

\.ﬂaf' 100—140 um

(B)
D

B)

(D)

(B)
(€0)

10-100 um

100-140 um

1900

1983

1900

1983

LCGS/19
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22. Which is the world largest passenger airplane?
(A) Boeing 747 — 8 Airbus A 380 — 800
(C) Boeing 777 — 300 (D) Airbus A 350 — 900

2 evdlen WsLQUAW Lwenl&sear auraTid era)?

A)  Cumlm 747 -8 B) emuev A 380 - 800
(C)  GumQrm 777 — 300 D) gruev A 350-900

23. India’s first national basket ball association (NBA) school was started in the city
(A) Jaip_iu’ (B) Pune
\W Mumbai (D) Chennai

@rdlwneiler (pse Caélu saent L LBg ULIDE SP&D FeumsIULL BEILD 61g)?

A)  Gguy B) ‘yenr
©) weu _ (D) Qserewen

24. ‘Indian women have wititessed a triple fold increase in their status (Jan 2015 to Dec 2016) —
revealed by NFHS, during 2017. What is NFHS?

(A) National Finance and Hygiene Survey

(B) National Forum for Hygienic Society
M National Family Health Survey

(D) National Finance and Health Survey

“@idw  wsefr g,sm@ Bl QeovaQum pboLBE FshlGmas sar@earerearnt
(gemeufl 2015 —g&buir 2016) * — 2017 @é NFHS @eieumm Qeuaflldl @ererg. @He NFHS

CTEUTLIG) GTEvTEnT?

(A) National Finance and Hygiene Survey
(B) National Forum for Hygienic Society
(C) National Family Health Survey

(D) National Finance and Health Survey

LCGS/19 10
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25. Who is considered as the ‘Father of Carnatic Music’?
(A)  Sri Tyagaraja : (B) Sri Shyama Sastri

w Purandara Dasa (D) Sri Muthuswami Dikshitar

STHTLE Gensudlen HHeng eTam DienLpdaLIL LG wmiT?
A uf Swursyrgr _ (B) B Hwmo srevgifl

©C)  urbsy sraT 2 D)  WBpsg seumd F g

26.  Which day is celebrated as ‘National Science Day'?
(A) 27 February \K 28th February
(C). 3rd March (D) 20th March

‘Codlw sifleflwied Heamons Qamerrim_LiUHLD BTET 61g)?
(A) AQdgeud 2 B) J\ugeud 28

(C) &3 D) wrrE20

27.  Who is the author of the look, “The People’s President : APJ Abdul Kalam?
(A) Harry Sheridon (B) Anuradha Roy
W SM. Khan (D) Sujatha

“waasailer pammdud : Sl APJ oiligid semb ”‘.STGth) uUssasden %ﬁrﬂ W WIT?
(A) anfl QagflLen (B) <siggrsrgmi
(C)  eren. 6rid. smem : (D) &.ggrrgsn

53 11 LCGS/19
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28.  The Sangai Festival is Celebrated in

(A) Assam

M Manipur |

srisml eflpr eriE Qe LuB&ng?
(A) evevmd

©  wefluy

(B) Mizoram

(D) Nagaland

(B) WOGsmyd

(D) mraremmHs

29. Which Country has the biggest non—nuclear bomb called “The mother of all bombs”?

M America

(C) India

(B) Russia

(D) China

Wlaayb Quflu g @ ® Qs @aoers “‘Gar@saiear gmi” eremp SApuy Quwr Qarer @ear®H

2 el W B erg?
A) Quisst

© @pdur

30. Global wind day observed on
(A) 5th August

(C) 15th December

2 @& &1HN SHeand gysfs@n Hrer
(A)  sevl 5w Csd

(C) gsbur 150 Csd

LCGS/19

(B) peigwm
D) &emr

d 15t June

(D) 5th October

(B) gfan 150 Gsd

D) @sCLrur 5b Cad

12 »



31.

32.

33.

Which one of the following statement is correct?

(A) The UNESCO’s Man and the Biosphere programme (MAB) was established in 1976
(B) The UNESCO’s Man and the Biosphere programme (MAB) was established in 1979
W The UNESCO’s Man and the Biosphere programme (MAB) was established in 1977
(D) The UNESCO’s Man and the Biosphere programme (MAB) was established in 1975

Spsanemib sapmiseailes sflwre sapdlaens seHidly.

(A) 1976 o @ yerewGar Hneuand “wafisead sb_uE]rraa Gaarrm@m cranm — Sl L SSleneu

2_(Heur&Slwg”

(B) 1979 gy e werevCar blmyeuend “maﬂg,@nb 2 uilits Camatapd eremm L gflear

2 (heunsdlig”

(C) 1977 b an® yeevCsr Hmpeuand “wafisgd 2 ulis Camarapd eTam S L sHman

2 (heurddlwg”

(D) 1975 <yb gyaw®- wearevGasr Hmeued “eaflgain o ulis Ga;r_rm@[n erarm Sl gdlenes

2 (Heumsdwg”

The Warmest year of the 20th Century.

(A) 1988 | \M 1998

(G} 1978 ¢ 1968

20 <y 1b mIHmTERTIY 607 GleuLiLITeT ,er(H erg)?
(A) 1988 (B) 1998
€ 1978 (D) 1968

In collecting information regarding the movement of army troops and location of atomic

power stations satellites are used

(A) Resource Satellites X{ Spy Satellites
(C) Sun —Synchdrous Satellites (D) Stationary Satellites

adfl @rremeuiisaiian pLOTM LD wHmb gnsss Hoowunsdear simoel ksmards sar._Nbs

sseu Qar(h&Eh Fwpamss Camar.

(A) aer dewpenss Camer

B) oeae Qswunass Carer

©C)  Glwumas eribs Qewnenss Camer
(D) yelblenevs Q&uﬁ)ma‘;&, Garer

13
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34. Match List I with List II :

(a)
(b)
(c)
(d)

A

B)

v

D)

List'1
Progressive age structure
Regressive age structure

Intermediate age structure

Malthus theory

(a) (b) © @

1 4 3 2
3 4 1 2
2 1 4 3
1 3 4 2

ulgwed I g utiguwied IT 2 e Glu.n@gg]&;

(a)
(b)
(©)

(d)

(A
(B)
©)

D)

LCGS/19

uliguwed I

parGarhlu euwig) TG -
GetreenL_ujLb euwig l_cﬂr,ruﬂG
@sm.f;u{_l_ QUG |5qu|_5]®

wregedlen Cam_Lim®

@ @ @

1 4 oS8
3 4 1 2
2 1 4 3
1 3 4 2

14

List II
1. Developed economy
2.  Declining economy

3.  Population e.xplosion

~ 4. Developing economy

uCigwed II i
1.; @&Gm@muﬁun@mr@ngm

2. &fluyyb QurmeTTsTyLD

3.  wéser QUEBESD

4.  euemmd @urHenTSTTD



35. ‘Devadhana” means

(A) Land grants to the Brahmans MLand grants to the temples
(C) Land grants to the officers (D) Land grants to the ministers

Caeugranid ereniiui(heug
(A)  YGgroenriseErs@ oaflgs Hostster. (B)  wyew BI&EH&EE 2i0flss Hlastarean
©C) <darisensE laflss Hosbsrem (D) cg;{emmé&r'ras@é;@ Saflgs HleosblamenL

36.  The first battle of Panipat (1526) war was between
(A)  Babur — Sikandar Lodi
W Babur - Ibrahim Lodi
(C) Babur — Daulatkhan Lodi
(D) Babur — Buhlulkhan Lodi

‘ g uralluu Cur (1526) arhs @meumés Qe wile per Qupns
(A)  unui - HésbsT Ceo, '
B)  uwrur - @urradlid Ceomy.
(©)  urur - Aseregsmen Gavmig.
(D)  unui - uaDEIdETET Gaomg.

3. List out the four dynasties of Vijayanagar in order
M Sangama, Saluva, Thuluva, Aravidu (B) Saluva, Sangama, Thuluva, Aravidu

(C) Sangama, Thuluva, Saluva, Aravid_ﬁ (D) Saluva, Aravidu, Sangama, Thuluva

efguinsmy o HQsiis rLsmer cuflasILBEss

(A)  smsL, FTEHey, §i@EHa, DTei( - (B) &m@peu, sris, gi@heu, 27l
(C)  srusLo, gi@neu, smEnel, Sigei( (D)-  gm@meu, 276, FRIHWL, gi@EHeU

» oo ; 15 “ LCGS/19
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38.  Who provided the ‘Vimana’ of the famous Nataraja temple at chidambaram with a golden

roof
(A) Vijayalaya o M Parantaka I
(C) Rajarajal . . (D) Rajendral

EgbLTD BLITRT e wsSler seysi@ Qurpanemy Geullbgeuer

(A)  efNewmewer (B) ng,m)mb.'uurrlr_bg,aas'm
(C)  @psemb FreyyTeen _ D)  @swmd prGyblTer
39. The constitution of India came into Forée
\( 1950 January 26 ' (B) 1947 January 25
(©) 1949 November 24 ' (D.) 1945 November 26

@pdlw rflween L) FenL (PONESE CUHS 240 (B
(A) 1950 geﬁemﬂ 26 : (B) 1947 gyameul 25

(C) 1949 peubuit 24 (D) 1945 peubuit 26

40. Which part of the Indian Constitution consists of Fundamental Rights?

(A) PartIV (B) PartV"

(C) PartVI - 7 Part Il

@B é{qﬁuﬁummutﬁisﬁr e‘rrr_ﬁg,U@ﬁuE]aJ @iguueL 2 Mawad GLb QuppieTaTar
A uedlV . B) uvedV

©) ued VI | . (D) uedIE

LCGS/19 : 16 »






44. The census of India organisation 1s a

(A) . State government organisation (B) Local government organisation

Central government organisation (D) Panchayat body

E@nHw Ln_é;é;s'n Qsrens semabsmiiy Blmeuend e
' (A) wrble iy Hlpieued (B) o drenit 2i7s Hlmicuand
(©C) wsHwu sigs Hlmeuad D)  uErETwHs '

45. ‘Blue Star Opexjation” in the Golden Temple was taken by
(A) Morarji Desai (B) Rajiv Gandhi
W Indira Gandhi (D) V.P.Singh

QurhHGarellais@er ‘B BLasHr BLagsmsmu” GuoHQsmem e
(A)  Qumrprigd Caami (B) grsdeu snpd
© . @pdorsrpd : (D) V.P. &l

46.  The ‘Per Capita Income’ of India is

(A) 220 Dollars M 950 Dollars
(C) 2930 Dollars (D) 600 Dollars
@bHwumelian g,s;urr QU(THLOMEITLD
(A) 220 Lreorrger . 2 (B) 950 Lrefigar
(C) 2930 Lrenser (D) 600 Lrevrser
47. Which is the first state in the country to recognise transgender as a separate gender and
1ssue ration cards? :
(A)  Andhra Pradesh \4{( Tamil Nadu
(C) Kerala . (D) Karnataka

B Briige Hmphamamu seafl uradaiors seLwrend sar® Gsrar® Hlwmu eleme i emLenuw

aupmEIEiL (G rbled erg)?

(A)  <=pslr GrGsesy B) s80Br0

(C) Cagerm (D) saprisT
LCGS/19 18
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48.

49,

50.

Which improves the quality of labour?

M Health _ (B) Poverty
(&) Investment (D) Expenditure

Qsmflarerfler srsms CubuBsgieug) eg?

Q) Crméflud B) eumew
€) sl (D) Qswey

The three British Cabinet members of the Cabinet Mission 1946.

M Pathick Lawrence, Sir stafford Cripps, A.V. Alexander

(B) A.V. Alexander, Sir Stafford Cripps, Mountbatten
(C)  Mountbatten, Pathick Lawrence, A.V. Alexander
(D) Sir Stafford Cripps, Pathick Lawrence, Mountbatten

asmiGen  giss @ 1946 & QL bQunm 9f g6y émm&&qmmmmé Cenpg apenm Guir
(A) Quisanyere, si ev_rCurr@® &fluen, a.6f. HQssTHET |

B) g sQwasTHs, s oLTCUTT® ML, weyesr . Gui e

(©)  weyeawr Cui e, Qusrgenav, ¢.6h. Q&ESTHST

D) srev nCuri® dfluen, QudGarreney, wear . GuL e

In 1905 the Partition of Bengal was done by

(A) Lord Ripon « Lord Curzon
(C) Lord Canning (D) Lord Lytton

1905 b par(h cuisls Wflefenanenw erbu OGSl wieui
(A)  MAuuer Qry _ (B) &igen gy
(C) sreflis Gy D) O emiGyy

19
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51.

52.

53.

A boy was asked to write the value of 2°x 9%. He wrote it 2592. The difference between the
obtained and the actual value is

Jo (B) 2 x 9°

(C) 22 w 93 (D) 23 % 9-1

@m wreameuan 2°x 9% e wHLMUSE saTESHLE Cal HEQaTaTaTiLL L M. Dieuen s 2592 eran
erpdlemmen crafle, jeuen el ssLbuDD WHILE@GHD 2 arambwrar LHUILEGD G Cuiwerer
aflgHuwirend

A o B) 2x9°

(C) - 2597 : D) =52 %9
If a®+ b®=117 and ab = 54, find the value of 2 +g
a_
1179
A eat 4
(A) 1 (B)

Js _ - D 15

a’+ b?=117 sab ab = 54 gysab GMHHSTD, Ej—:: @ e iy wing?
a-..

117
— 4
= (B)

© 5 it ® 15

(A)

In a class of 47 students 22 can play foot-ball and 22 can play basket-ball only. How many
students can not play both games

A 5 - @B 4

W 3 | ®) 2

Qurgstd 47 wrewmeuiser QararL @ au@Eubd 22 wramauTsErs@ sToubg elemeanun. g Agfuyb
22 reTeuisEnéE samLUUbBg WL HWL ellmerwur g sy aafier Grean® efleverum’_ H&EHn
ellemenun g Asflunser arsgamen Guir?

@ 5 : (B) 4

e 3 D) 2

LCGS/19 : 20 A i »



54.

55.

56.

Area of a square is 169 cm?2. If the area of the square increases by 69% by what percentage
does the side of the square increase?

A 13% (B) 33.3%

y 30% D) 26%

@ sgITsHen LTliuatey 169 Qs.18° @igen urliuatey 69% wifaNssiL@LTdE sgTsHen LEssSen

2F a6 6565510 eremen?

A 13% . (B) 33.3%
©) 30% D) 26%

The base and height of a cylinder and cone are the same. The volume of the cyclinder is

x em®. The volume of cone is

1 3 1 3
A =0 C e
(A) 4x m _ \ﬁ 3xcm

(C) %:lccm3 : D) =xcm®

SlgUEEAPLD 2 WITAPLD, 2 (HenaT LHHIL Salbiflé) S1o1oms 2_arerar. o (HeneTuden sar vjetay x cm’ arafled

s sarsiaTe
(A) c x em?® (B) l.v::cmm"1
4 3

©) %xcms ®) x'em®

Which one of the following has the greatest value

@ 32 J i
© 43 | D) 442

Gereumeuaneunmier e gemdlen UL & 2 WINHSSTE @) (HEED?
A) 342 B) 3J4
C) 443 D) 442

21 LCGS/19
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59.

(x+3F : (x—3F
(A) ——.4 (B) =%

M (x;B) D) (x;S)

2 5 2 + .
= 94('1: 3) MDD x_gr_-t—g pflweupdlen 5.QuU. au ergy?

' (2 + 3)2 (x-3)
(A) 7 ‘ (B) e
(x+3) (x-3)
(©) 4 FD)_ Z

l)
Area of semi circle whose diameter 0.14 cm is (Take ;r=“—72)

M 0.0077 cm? B) 0.77 cm?
(C) 0.077 cm? (D) 0.7 cm2

el 1b 0.14 Qg5 Qareawr ey eul_LgHler upliveney (7 = ? erand Qames)
; : i

(A)  0.0077 Q.82 (B) 0.77 Qs.82
(C)  0.077 Qa.82 (D) 0.7 Qs.182

Two dice are thrown sim'ultaneously then number of chances of getting sum 8 is

W 5 - ®) 6

© 3 3 (D) 8

Qe vseLsda @muts efsliuddaper. saaBad 8 eleusnarear eumiliyseafler craaniisemns

THHENE? _ :
(AY. K5 ' B) 6
© 3 (D) 8

LCGS/19 : 22



'60.

61.

»

If a discount of 20% is given then selling price of an article is ¥ 24. What would be the
selling price if the discount of 30% is given?

‘y( T 2] @) %30
(C)

T 36 _ < M) T 20

gerenulg 20% sruL@L Gung e Qummatier eSlHm odevew T 24. 2i6s GummEnsE 30% serEnuig
sruuligmUiler ellhLeaner eflenay eremaneuns @bl (héE D ? '
@ T21 : B) T30

(@) .-% 36 : M T 20

Two electric trains leave a railway station at the same time. The first train travels due west
and the second train travels due North. The first train travels 5 Km/hr faster than the
second train. If after an hour they are 25 km apart then speed of the first train is

W 20 Km/hr (B) 15 Km/hr
(C) 25 Km/hr (D). 10 Km/hr

Quan® Wa@sLit cuangsdr @Gy Crrsdad em Qruid Homamwusddmsg Hanbds Qeodeamer. -
e Cuome Crradlub wHng e &@ Crréflun Lwamfllsdamear. wse euamguiier Causwnarg
Grerr_meug) euanTiquilen Ceusgensd arligaud 5 &.05/wafl oiflswrs @Qmesng. em wenfl GCorbd
sPps e Qraw® cuarmysE@pdEn @eLuuc gipb 25 8.8 s Qoular wpse WarQgm
cuatriquilen Geusid eramen?

(A) 20 &.8./wend - B) 15 .8/ wenf

(C) 25 4.5/ waxfl (D) 10 8.8/ wanfl

For a given data difference between the highest and lowest value of the variable is

(A) Frequency WRange
(C)  Class limit _ (D) - Class-interval

iUl L eleugmsaiied, wrHlufer Wah@uilw wHu9n@w, Wasddlu wHUGHED 2 6rer eflgSHwined
eremiiu(hid

(A) ;f,]a;@@maﬁ B) oSes
(C) euElLY er@ma D)  auEuy @ Geuafl

23 LCGS/19
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63. Some number of butterflies flying down from the air and sat on some number of flowers. A
student asked them astoninguishly “O! Butterflies! How many of you all together? ” One
butter-fly replied him indirectly that “If we sit one butter-fly on each flowers then one
among them will have no flower to sit. If we sit two butter-flies on each flowers then one

flower will remain none on it”. Student calculated correctly the number of butter-flies and. |
number of flowers which are respectively.

(A) 5,4

®B) 1,6
© 3 4 Jﬂ'4,3

cuarTamtdgil LFflaer Sl umpg wbg feo yssefldr ouwnibser. umisg eflwbs wrameust GaL L e
‘@! aanarsgmuyslaCar | Srigdr Qorgsd ads@maCui?” @m eudmadgILILLES DeuaéEL
Gemeumonm wepapsons ufwallsss. “@aQeaurm yellgib @meut eigb HLIHST® ermsafld
POHUGES L HoLssrs: gaQaunnm yelib @ramgra® GuITs LIBSTO G L, WTHD
2orTod  OFEN(HEGD”  wrameuea slunss sarsL(H saTBUgss  cuaTasgULFSsafler
craimenflians wHmb yesafler erawrantlans pennCu

(A) 5,4 B) 17,6

(©);; 84 D) 4,3

- 64.  Value of Astronomical unit
(A) 9.467 x 10''m (B) 9.467 x 101 km
‘gf 1.496 x 101" m (D) 1.496 x 101 km

@ curatl L) D6 eTaLg)

(A)  9.467 x 1018 (B) 9.467 x 10" 4.1
(C)  1.496 x 10118 D) 1.496 x 1011 §.8
65. If 1 kg of a substance is fully converted into energy then the energy produced is
9 x 106 J B). 9x101J
() =1.d (D) 3x108d

em &Gor fymbd Hleon 2 daar ummET W(PaUGILTS JHPOTE WIHPULEWL QUTIPE 2 (HUTED

. <ADHDD _
A) 9x10%J : (B) 9x102J
© 13 : (D) 3x108J
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66. Match the following :

(a) Lemon 1. Tartaric acid
(b) Aﬁple ' 2.  Citric acid
(¢) Grape 3.  Oxalic acid
(d) I- Tomato 4, M_al-ic acid

G @

O ) Vi
(B) .2 1 405

- y2 4 1 3
(ﬁ) 2 3 R
SpsreaTuaipenn GUTmSSIS -
(a) er@uiéens _ 1. Lrmflé oifleon
(b). égouﬁ_lm ) A A& snfleoid
(c) ﬁr,rm'_em& i | -3. 2,58Me0& ojled
e 4. wredls e

@ ® © @

@) 2 1 e
®) 2 i 4 3
©). 2 . ey 3
O 2 3 ALY
» | S S e s - LCGS/19
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67. Among the four stages'in oxidation of glucose, Which one is common in all organism?

W

(B)

(©)
D)

Glycolysis
Oxidative decarboxylation of pyruvic acid
Krebs cycle

Electron transport chain

BEpsCamen &8nCarmnd e Qumb prang Hlawsalld, abs Hswey eraor 2 ulflamseflan

B Qumdleamg ?
@A) Aemerssradda
(B)  eumeils sSleob = &flaCarhp sriuen BéswaLGa

(©)
D)

~ &lyuen spnél

CT&LITen SL_Ggl Fnifledl

68. Who is known as Father of Taxonomy?

(A)
(©)

Hippocrates fCarolus Linnaeus

Gregor Johan Mendel | (D) Aristotle

eUSLILITL g WIedlel FHens eTenl DieP&&UILI(HLIGUT wmi?

(A)
(©)

anluCGurdlQy_L e _ (B)  &Crreven elenGauien
Slysm Cemanmen Gl : D) eiflevrmiiged

69. Major respiratory Substrate is

&)

Protein (B) Vitamin

g Carbohydrate (D) Fat

' seunélggedled WuimburgId LTRSS IUHD gar@ummeT

(A)
(©)

LCGS/19

Y& ' (B) eneul_Lifler

smiGurean_Grl D) Garupiy
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70.

7

=1

1

1o

Where is world’s largest railway station platform found?
(A) New Delhi (B) Egmore

(C) Kharagpur : W Gorakhpur

o @dler & Herwrer uieounens pentGloenL Gr@@ snewiu(hElmg,?
A)  ys g _ B) &G

(C) asmpayf (D) Campaym

In 2018, Who is appointed as a chairman of Public Accounts Committee (PAC) of Parliment?

(A) Kuruppassery Varkey Thomas (B) Buta singh

(€1 N Janardhana Redds G Mallikarjun Kharge

2018 — @é umm@nLoerm Aung) saréE sy ublen Camoeanms HluwllEsiuc (Herareui wirr?
A)  smuyeflaurdlev sroev (B) yrimélm

(C) N. ganmiggsen Quilig (D) wvadsmigear smiCaR

The Sportsperson who has been inducted into Legends club Hall of fame in January 2017 is

(A) ° Sunil Gavaskar G Kapil dev

. (C) P.T. Usha S (D) Sachin Tendulkar

saraufl 2017 @, ysLp saL_sHleng Lgngren eSS 261 sigind Qubm eflenerwum’ @ oSy @eut
(A) safle seurevst B) &9 Cgeu

©C) Gg.zagr (D) sg&dlen QLaT(He&T

27 LCGS/19
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13 Who Conferred the title of saint to Mother Teresa? -

M Pope Francis (B) Pope Benedict XV
(C)  Pope John Paul II (D) Pope John Paul I

Siemenen Qgrana @ yelsi Ll L Smg eupmdluig) wmr?
(A)  Gurd Qgmenélen , B) CGum udleanbHTid CuaTg &
(€©)  CGumrd grew Limed . T E e (D) Gumd gmer umed 1

74. P.V Sindhu of India beat Nozomi Okuhara, of which nation, in badminton in 2016 Summer
Olympics.

(A)  China : (B) Tibet

(C) Korea M Japan

2016 CarenL gedlnl9s Cumiguie Guuﬂsm_snﬂa) @pdwnellen 19.69. fpg Gr'rf;gg‘r_r)rruq.em QprGamd
@a;amsr,rrrmsu CamhsigS&.

A far (B) QGug,
(C) Qsrflwr . D) giumen

75. In 2017, India makes a world record in the launch of satellites in one go by launching
maximum of

\M 104 Satellites (B) 226 Satellites
(C) 106 Satelites (D) 37 Satellites

2017 —a @pHuwnr Qewpenss Canaser sgtieaudler @Cr wan Hsulswrs assman Qawpans
Canarsmar gl 2 @& sTEmEn U@L SFIETaTS)? ;

(A) 104 Qewmpens Camarser (B) 226 Qewpens Cameraer

(C) 106 Qswpens Careraer (D) 37 Qewmens Camenger
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7.

78.

Who is the founder — CEO of Pay tm?

(A)  Anil Ambani \M Vijay Shekhar Sharma
(C) Arundhati Bhattacharya : (D) Rajat Sharma

Pay tm - g Cammielgg — semeanio Qe Sifsrfures Qewdu@ueut wri?
(A) aflé sibumres (B). ellggus Caarm gom

©C) <=impBsd ulLrdermwm (D) @nmgl siom

On 22, Februafy 2017, India and Uganda agreed to expand Comperapion in the
(A) | Aviation sector (B) Tourism sector

(C) Economy sector \M Energy sector

Qipwur wHmb weTaTLT Qssmnuily @ssimply eflfluamLws Qeliw 2017, Qureufl 22 as&g

eULs QamamrLe.

(A aunen el FIewm _ B) svmers geo

©) Qummefuwe giemm (D) <mme geom

In which city of the following Elephant Festival is Celebrated annually?

M Jaipur (B) Jodhpur

(C)* Kota D) Ajmer

Qemeu(mid perrisaiicr samGCsTHID Wiraars Hmelwr Asreamm L@ BSTD 6r5)?
(A) Qe (B) Cgmrsum
(C) Gsrionm (D) @S

29 | LCGS/19
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79. The objective of Kyoto Protocol 18
M To fight global warming by reducing green house gas concentration in the
atmosphere
(B) To fight ground water contamination
(C) To fight air pollution
(D) Wet land conservation
HCwrGLr Apdapenmullen Corésn
A) araQeeiubier 91558 sTHME@ET GDDSE 2 08 GeuliLweaL SN&E adlyrs CurFTHgea
B) Hessy B wrsUBSNEE alyns GUITHS®
(C) amhmy wrsLBSNEES dlyres CumrmHse
D) esgmyuyfe urgisTiiy
80. When did the Pathankot attack occur?
January 2, 2016 (B) June 2, 2016
(C) August 2, 2016 (D) December 2, 2016
ugTenCaEn gr&@se eriGLng) ﬂ&@ﬁ;g,g?
() meweurfl 2, 2016 (B) gew2, 2016
(C) ysev®2,2016 (D) ygebuT2, 2016
81. In which country water emerges from the rocks beneath the surface as artesian springs?
(A) England M Australia .
(C) Germany (D) South Africa
THS B lg e Lirennaeied Bhhg B %ﬁ@oﬁ wer eardmras Ceuetliu@dlerma?
A) @rderbg (B) <yevdCrellwm
(C) Qgmoe D) QgenenruGfEsT
LCGS/19 30
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82.

Match the following :

(a)
(b)
(©
(d)

L_ist I (Founded)

The nature conservancy
Environmental defence
Natural resources defence

Green peace

(a) (b) (©) (d)

s 1 a4 m

®B) 2 3 1 4
© 3 4 2 1
D) 4 3 1 2
Qurmsgis

@)

(b)
(©)

(d)

(A)
(B)
(©)

(D)

ulguwe I (GQ}TL_rﬁiaEl:JLJL-_L_@)
Qunems uTgSTIL
Gl Lurg sy

Caélw euarurgsmiLy

L&D S

(@) | (b) @ . @
3 1 4 2
2 3 1 4
3 4 2 1

4 g 1 2

31

List IT (Year)
1967 :

1971

1951

1970

ulgwe IT (au@pid)
1967
1971
1951

1970

LCGS/19
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83. The largest of all the Indus cities
\K Mohenjodara (B) Kot Diji
(C) Lothal (D) Rupar

AngCevedl paghisaticr WsLGUMwWg)
(A)  GdwrsepesrCGrm . (B) GCsmige)

©) Corgge D)  emumt

84. In Rig vedha “Saptasindhu” refers to
(A)  The land of two rivers (B) The _land of five rivers

(C) The land of six rivers i MThe land of seven rivers

M& Cougsdler 515 Sibg eraniuBeug)
A) Qe plser uryd LG (B)  gbg plser Ly LGS

©) <y pdser Linub LES (D) g pserumnyd LEH

85.  The inscription provides a detailed account of Samudragupta’s reign

(A) Meherauli inscription d Allahabad pillar inscription

(C)  Aihole inscription (D) Uthiramerur inscription
spsdn@lisflen o, Aewis uDHs samb soGleU{H

(A) Quanmed soQeuL( (B) = =wsTurs SbHnIEHT aasteuL@ :

©) gCaprCGe sQeul_® D) 2585CwepiT s00euL_(H
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86.

Match the leaders and their journals.

(a) Annie Besant 1. India

(b) .G. Su_bramanya Iyver 2.  New India
(¢) Periyar e The Hindu

(d). Bharathiar 4. Viduthalai

@ & © @ @

@ 2 1 3 4
B) 4 2 1 3
J 2 3 4 1
®) 3 I i

G;é\u{s gmmmﬁg@mﬁm Sjaiigafer LgHfassamenyn Gun@,s@_a;.
(@) enafl Qu.&e&n'_ . 1. @sdur

- g &I;IlS].lJLDGEﬂﬂLLI Wi 2 B, @pSwi |
© Quflwumi g 8 @;5@

(d) umpdwmri : 4.  Apsoe

AR T

@A) 2 1 3 4
B) 4 2 e ey
© 2 3 4 1
D) 3 e ] 2

33
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87. ~ Who was the Chairman of the Constituent Assembly?

(A) Dr. B.R. Ambedkar \K Dr. Rajendra Prasad

(C) Jawaharlal Nehru : (D) Gandhiji

@ndw srflweeawiy Birerrw seuuier Curameuullen gemaeurrs Qawdul L eur

(A) Dr. B.R. @unCusar (B) Dr. pnCgpdly Gysrns
©C) geuanirere Grm (D) srpHa
88. How many times does the parliament meet in a year normally?
(A) 4 Times (B) 2 Times
(C) 1Time .M 3 Times

BenL_(penDUled HITL_T(E@HLOGTDLD peTie (& TSSMET (P dal L LILIHEmS)?
A  4yop B) 2 e

©) 1yep D) 3 wen

89. How many days money bills can be delayed by the Rajya Sabha

(A) 11 days (B) 12 days

M 14 days - (D) 13 days

B8 wCargrésdr wrflo mauiame assman BTL&ET STOSULIHSSILIL QLD
(A) 11 prlser B) 12 pmiser

(C) T4 priser (D) 13 priger

LCGS/19 34



90.

91.

92.

93.

»

The people of India are given fundamental rights by which of the following

(A) Parliament (B) Government

w Constitution (D) Judiciary
QAW wESERHE gL 2 flawsamer Qb auLphISlu|emerg).
(A)  umymEpwETHLD - B) ersmhishd

©) swlueewiy D)  EHsgiemp

The National Human Rights Commission was constituted in
(A) 1990 . M 1993

(C) 1998 . (D) 1997

Cadlw wefls 2 fenwseT 2, emeRTiD <arr(h FOUHSSILILLGI.
(A) 1990 - (B) 1993

() 1998 (D) 1997

India isa ———— state

(A) Islamic J Secular

(C) Hindu (D) Christian

QPrHwr O : |

A Qevemdw (B) &wwermmupm

© Qbsl (D) ddlevgieu

The —————— amendment of the constitution enumerates the fundémental duties of the
citizen.

A IIA & A

(C) IVB ) D)y VA

Gy ésaflen SigliuamL sLamwaer upl efleré@n Srdwmamwiiys mSsd

A  uedHd ' B) ueHis
©) uvsdHidy D) ved 5

35

LCGS/19
[Turn over



'94.  Prime Minister Nehru as chairperson “The National Planning Commission” was established
on

(A) 15 March 1948 \M 15 March 1950
(C) 15 August 1948 15 August 1950

Cmm gemavenwula L &@p (The National Planning Commission) ﬁg;jsuuu CL BT

(A) 1948 woniré 15 syib mmer -~ (B) 1950 wmité 15 <yb mreT
(C) 1948 yseivl 15 oyib mmer (D) 1950 a6l 15 oy b HreT
95.  ‘Quit India Resolution was passed on
(A) 9% August 1942 (B) 15 August 1942
W 8% August 1942 (D) 26 August 1942

QeuetenemwiGear QéuafiGum Sirorend HlexmCeupmuLl L prer
(A) 1942 24&EVL 9 Qb HET (B) 1942 gmevl 15 oyib prer
(C) 1942 gy &l 8 b pmer (D) 1942 gya6vl 26 b mreT

96. Find out the correct statement
M The chief cause of the khilafat movement was the defeat of Turkey in I world war
(B)  The chief cause of the khilafat movement was the defeat of Germany in I world war
(C)  The chief cause of the khilafat movement was the defeat of Italy in I world war

(D)  The chief cause of the khilafat movement was the defeat of Austria in I world war

sflwren sapenms sewt(Hg 58 eT(LPFIS

A) @z 2 @st Curfla gimpadlulear CarwelCu daorus QusssdnE sryemd

B)  @psd 2 @si Curfle Agirwaflkia CaraaCu dorus QuEssSnE sryed
C€) @z 280 Gunfléd @ssrelllilen CameailGu forug QusssHHE sy
D) s easu Guriler yadflwreler CaraalCu Harus QusssSnH e STy
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97. Who is called the changing agent of the society?

(A) Labourer M Entrepreneur
(C) Consumer (D) Member

FUPSMTW DTHMHLD STEWILD (LPSGUIT WIiT? :
(A) &aﬁ]u_lrrmrraa (B) Qsrifler apenenrGeurit
©) merCeun (D) omulent

98. Investment in education is called

M Human Capital (B) Fiscal Capital
(C) Money Capital (D) Wage Capital
saeiludlé pzesH Gréinug;

(A)  wafs epegend : | (B) HH ppagand
(C) e ppageard (D) eaflw ppesard

99.  Which is a free gift of nature?

(A) Business : \M Land

(C)  Money e (D) Labour

wmenswilen @leveus blsmenL e eTg)?

i a liss era)
A aaflsw (B) flew

(C) uwewrd (D) GQsmemert

100. What was the trend growth rate of National Income in the undivided India from 1901-1946?

A 10% qﬂ' 1.2 %

© 14% D) 16%

1901-1946 aueny YfaalLLg @BHwrellen Hri m@mrrafg_’;,@@ Curé@ euariasl ellflpid eremen?
A  1.0% B) 1.2%
© 14% (D) 1.6%

» 5 Dl LCGS/19
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Read the following instructions carefully before you begin to answer the questions.

o

W

|

10.

11.
12,

13.

IMPORTANT INSTRUCTIONS _
The applicant will be supplied with Question Booklet 15 minutes before commencement of the examination.
This Quest.ion Booklet contains 100 questions. Prior to attempting to answer, the candidates are
requested to check whether all the questions are there in series and ensure there are no blank pages in
the question booklet. In case any defect in the Question Paper is noticed, it shall be reported to
the Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet after the commencement of examination, it
will not be replaced. 2
Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this pagé. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers. .

You will also encode your Question Booklet Number with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per Commission’s notification.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.

In the Answer Sheet there are four circles &) ,®), © and (D) against each question. To answer the
questions you are to,mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, 1s the correct answer, you have to mark as follows :

®O® 00

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the time of
examination. After the examination is concluded, you must hand over vour Answer Sheet to the

Invigilator. You are allowed to take the Question Booklet with vou only after the Examination is over.

Do not make any marking in the question booklet except in the sheet before the last page of
the question booklet, which can be used for rough work. This should be strictly adhered.

In all matters and in cases of doubt, the English version is final.

Applicants have to write and shade the total number of answer fields left blank on the boxes provided
at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blank. :

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion.
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